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�� χ 
 �	��	������������ ������������ ��� ������
������� ���������  ��	!� ��������� "� G #�������$�% �!��� !�$�!���$���� ��� $	
χ�������� &������� '�(�χ)� ��"� ��*	$ ������ ����$�� ��$+��

G = G0 > G1 > . . . > Gn > . . . (1)

$	 χ�������� Gi ,	�	# ���$,	$$� ��������� ������ �-����%����� ��-�� #$���	���� ���	
$�������$	 ,���� m� "� Gn 
 χ������ ��� ���
 n ≥ m� ��*$� !�$�!���$� $	 χ������
&��-�� $	 χ������� ��*$� ����$� �������� ���. % χ�������) #�������$�% �!��� '�(�
χ�

������%!�� "� ČA������� &��������$� AČ�������) $�#���%���� ������ ��� % ��#�
/��	$$�! ,	�$��������. &��������$� �-	�	��.) ����� #� ����!���� �-	�	��. &������
���$� ,	�$��������.) ������ 0� ��#$�,��� 1� 2��� � 1� 3	$� 4�� �	��	!� �5� !�$��
!���$�
 $	 ČA����� � ����� ������$� �����$,����
 ���� $	 ��$�%� 6$�����,$� #�
�	��	!�� � # 4�5 � �	��	!�� C �# 4�5 !�$�!���$�
 $	 AČ����� � ����� ������$� ����
��$,����
 ���� $	 ��$�%� 3���-$�� �	#������ ��� NČ����� �������% # �	��	!� A 4�5
� �	��	!� ��7 475� ��-�� ������$� �����$,���� ������ ��� ����$� �������� ���. % NČ�
�����!�� ��!� % ������ 8����� -����� $� NČ���������� #���	!� ��#������� � ������
4�5�
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� +�� ������ ���,�%!� ����� # �!���� !�$�!���$���� ��� $	 ČA�������� '�(�ČA �

�!���� !�$�!���$���� ��� $	 AČ�������� '�(�AČ� 9� ����!��� �	��	 ��#/��	$$�
+�
 �	#�������� � ���	�� ���	 ��	��*	$$��
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 ����/ G 0 123�1452 6�7��58�6�� 9�7���

!� :�7�� G ;�<2=2145�> 7�2=7 ��5���14526�� <1� 5� ČA
��<9�7� '�?
ČA �2<�
� ��143� �2<�@ 321� G 0 ČA
9�7���

�� :�7�� G ;�<2=2145�> 7�2=7 ��5���14526�� <1� 5� AČ
��<9�7� '�?
AČ �2<�
� ��143� �2<�@ 321� G 0 AČ
9�7���

������%!�� "� ������ ��� % ��#/��	$$�! $������	$�$�. ����� #� ����!���� ,	��
$��������. ������ ������� $�#���%���� NČ��������

:	��	!� � �# 4�5 �#�����$�% ��	��*	$$��
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 1. ����/ G 0 5�<26325�1� ����2<�85� 123�1452 6�7��58�6�� 9�7

��� A3B2 =6� =1�65� 52���145� ��<9�7�� �; G > AČ
9�7����@ �2 G 0 AČ
9�7���

2. ����/ G 0 5�<26325�1� 123�1452 6�7��58�6�� 9�7��� A3B2 =6� CC =1�65� 52�

��145� ��<9�7�� > NČ
9�7����@ �2 G 0 NČ
9�7���

;# +���� ��	��*	$$� �	��� �������% $��������
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� 	
 ����/ G 0 123�1452 6�7��58��� 9�7���

!� A3B2 G 5� > ČA
9�7�2D@ �2 =25� ��> 5�63�58�55�/ 6��292 6��<5�/ 1�5ED9
��<9�7�@ �3� 5� > ČA
9�7�����

�� A3B2 G 5� > AČ
9�7�2D@ �2 =25� ��> 5�63�58�55�/ 6��292 6��<5�/ 1�5ED9
��<9�7�@ �3� 5� > AČ
9�7�����

������%!�� "� ����� G $�#���%���� ������$� �����$,������ ��"� ��*$� $	����
$�,$� ���$,	$$� �����*	$� �������� # G !������ ����$� �������� ���$,	$$��� �$�
�	���� 0� ����!�� ���� ������$� �����$,����
 ���� ������$�� /������< ��$ !�������
#���	!�� ������$� ��#�=�#$� ������ 0�"� ��!���$� G′ ���!�$$�� ��� ����� G� �� G
$�#���%���� �����$�����
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�� G 
 ����� # �!���� '�(�χ�
1. 2������� ��*	$ ������ ����$�� ��$+�� $	 χ�������� �# H % ��$�,��$� ������

����$�! ��$+���! $	 χ�������� �# G� �� ��$ �-����%�����
2. 0�"�

G1/H > G2/H > . . . > Gn/H > . . .


 �����$	-��� ������ ����$�� ��$+�� $	 χ�������� �# G/H � �� (1) 
 ������ ����$��
��$+�� $	 χ�������� ����� G� ��!� ��$ �-����%����� 0� $�������� ��$+�� (1) ����*
�-����%�����

3. �	
��H 
 $��!���$� �������� ����� G � H $	 % χ�������� 0�"� ?�����������
G = G/H $	 #�������$�% '�( � !�% $	���$,	$$�� ������ ����$�� ��$+�� {Gi|i ∈ N}
������� Gi� �� G !�% ����* $	���$,	$$�� ������ ����$�� ��$+�� {Gi|i ∈ N} $	
χ�������� Gi� �	 Gi 
 ���$�� ����-��# �������� Gi � ����� G� � +	 ���#������ ��
���	�	,$����� A	!� ���	�	$��

��������� ���	�
���� �� (⇐) �,	���$��
(⇒) �	
�� G #�������$�% �!��� '�(�ČA &��������$� '�(�AČ)� 3�������!�� "�

G $	 % ČA������� &��������$� AČ�������)� :��� G !�% ���$,	$$�� ������ ����$��
��$+�� (1) ������� Gi� ��� $	 % ČA������!� &��������$� AČ������!�)� �	 n ≥ 0�
B i = 0, 1, . . . , n� ���,�!� ��� ����$� �������� # Gn % ČA������!� &��������$� AČ�
�����!�)� 6�	 +	 $	!�*���� # ������ $� �	��	!� � �# 4�5 &��������$� $� �	��	!� �
�# 4�5� �	��	!� 6 �# 4�5 � �	��	!� ��7 �# 475)� 2���!�$� ���	�	,$���� #�����,�%� "� G 

ČA������ &��������$� AČ������)� :�	��*	$$� ���	�	$��

������%!�� "� �����G� � ���� ��*$� ��� ����$� �������� A � B #$��� �����*����
����$� �������� 〈A, B〉 � G� $�#���%���� $	��#����$���
��������� ���	�
���� ��

1. 0�"� ?����������� G/G′ ��#����$�� �� G = AB 
 ��-���� ���.
 ���
 �����
$�
 $��!���$�
 ������� A � B� 3�#��� #� ��	��*	$$�! ��� �# 4�5 A &��������$�
B) !������ 
�����	�����,$� �-	�	�� �������� A1 &��������$� B1) # ,	�$���������
?������������A/A1 &��������$�B/B1)� �� A1B1�G � G/A1B1 
 ,	�$�������� ������
6�	 A1B1 
 $������	$�$� AČ������� ��� #$��� #� ��	��*	$$�! ��� �# 4�5 !�% ���� 
��
����	�����,$� &�� ��*	� $��!���$� � ����� G) �������� A2� "� G/A2 
 ,	�$��������
������ :�!� G 
 AČ�������

:	�	� $	
��G/G′ 
 $	��#����$� ������ C� �	!�� � �# 4D5G/G′ 
 +����,$� �-� ����
#�+����,$� p������ ��� �	����� �������� ,���� p� C$��� #���������,� ��	��*	$$�
��� �# 4�5 �� �������� G′� ����!�%!�� "� G 
 AČ�������

2. �	
�� � ����� G ��� ����$� $��!���$� �������� % NČ������!�� 0�"� ?������
����� G/G′ $	��#����$�� �� # ������ $� �	!� � �# 4D5 ��$� ,	�$��������� 3�������!��
"� ?�����������G/G′ ��#����$�� :��� ��$� % ��-����! ���
 ���.
 ����$�
 $��!����
$�
 �������� ��*$� # ���
 % NČ�������� 0� $�������� ����� G !�% ,	�$���������
��!�!��?$�� �-��#� 2�*	� � �-�
 �������
 ����� G !������ ���� $��!���$� �������
�� S� "� ?����������� G/S ,	�$��������� C� �	!�� ��D �# 4E5 $��!���$	 #�!���$$�
SG =< Sg|g ∈ G > 
 $������	$�$� �������� � G� 2������� ?����������� G/SG

,	�$��������� �� G 
 NČ�������
:�	��*	$$� ���	�	$��
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